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OPTION - A

( Geography of India with reference to
N-E India)

Paper : GGY-HG-4016/GGY-RC-4016

1. Answer the folllowiﬁg questions : L=
So] ePTIR el fal ¢ |

(@) Give the locational extent of India.

SIS (Sllifere Rgls fat (srwied =i
TINR YD) |

(b)) Name the two union territories which
were declared in India recently.

SRR bR GRISARE CarEe T
TR ooed 79T N T

(c) In which season India gets maximum
amount of rainfall ?

(FITCT! APO SIS ABIZSF (@5 JBiT 272

(d) Name the state of India having the
largest population as per 2011 Census.

m;;mmﬁwv@mwﬁﬁﬁaﬁ@%
SR LB ST /I T
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(e) What is the sex ratio of India as per
2011 Census?

2035 5] mww@wmm
CICRERICE:

(/) Name two east flowing rivers of
Peninsular India.

wfe SOt 7397 IR T e

(g Name a wheat producing state of India. K

| OROT QI (T2 SAMADIS! e N ol |

2. Write the following questions in brief :
2%x4=8

-wifs 50F Tet Al ¢

(@) As per 2011 Census, name the two
- districts of Assam having highest and
lowest population den31ty

-qonbwa@ﬂﬂwwﬁwmw
% @B TRyl T A S

(b) What are the area coverages of India
and Assam ?

SR I SRR TR R
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(c) Name two trans-Himalayani'_ributaries
of the river Brahmaputra. '

ﬁmm@maﬁwaﬁ@aw@m
IR

(d) Mention two main characters of
ImMonsoon. g

CTR A" 767 = ey S 3|

3. Write. short notes on : (any three)
‘ N . | 5x3=15

5 (o fet ¢ (Riceezant fofasy)

(a) Major physiographic region of India
ORI I PEUIFOT SwPIE

(b) Weather characteristics of India
S GERRR Qe

(c) Literacy pattern-of India
SRR Ao SRES

(d) Forest cover of North-East India
T sdfieem e oo e
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(e) Iron and Steel industries of India

. OReS (ENE i fodli S

4. " Answer any three questions from the
following : © 10x3=30

oo SHAIRE Bl Rl ¢ (e oAby

(a) Discuss about the major
" physiographic systems of India and

their characteristics. - 2+8=10
TR o T-2AFReT QTR W% (AT
cafxig R =i 1 |
(b) Discu-ss the mechanism of Indian |
monsoon
. OReT cs‘r@ﬁl W’;ﬁ erﬁ—ama A S
- 34| ' R

(c) Discuss the locational signification of
'N=E India and its influence on its
grthh and development. 4+6=10
Teg-{iwed SRENT GFG AF SRR
ROHE (FTS 3R TSR TS S0 T4 |

3 (Sem-4/CBCS) GGY HG 1/2,RC/G 5 . Contd.



BIKALI COLLEGE LIBRARY

/

(d) Give an outline of industrial systems
of India and discuss the factors
influencing industrial development of
the country. ' - 6+4=10
oiFed TS SwETzE Uit e vl o
DA 4 | |

(e) Discuss the distribution and.potential
of petroleum resources of India: |
SRS (AGIEN Fina Ry =i FeRAR
frme e ==

() __'Discuss the technological and .
institutional factors affecting Indian
agriculture. '

TReT FRANGT s T TR ol oSO
TR IR A SR |
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OPTION -B _
( Population and Settlement Geography)
Paper : GGY-HG-4026

1. Answer the following questions by choosing
the most approprlate option given against
each question - : - 1x7=7

Ood SIS oS Teao! AR SfFed ¢
(a) ‘Sex ratio’ is defined as
- feiest SIgeie” CarR

(A) the number of females per 1000
males in the population

2l So000 T 7[R REANICS AR =Rt

(B) “the number of females per 10000
" males iri the population '

3[1% 0000 & 737 RS WREAR F |

(C) the num.ber'of females per 100
males -in the population

ofS Soo T Ee ReAICS TRAR T2

(D) -thé number of females per 10
males in the population

ﬁﬁboWWﬁWﬂf\ﬁlﬁﬂ
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(b) When did the ‘National population
policy’ come into effect ? ' |

Wmm@am?@ﬂwmﬁﬁﬁ AT
4 (AR?

(A) 1994  (>558)
(B) 1986 | (Sobv)
(C) 2000 (3000)
(D) 2001  (R003)
(c) Which of the following is not a “push -
factor’ of migration ?
TR (PG g R TR TR
(A) Water shortage
AT FGH
(B) Uﬁemployment
(C) Medical/educational facilities
g/ PR AR |
(D) Epidemic
P e S
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(d) During which decade did the population
of India record negative growth rate ?

O] (TG TS SIeIHS S Gl
I ot Caifea 2

(A) 1901-11 (baoﬁ—bb)
. (B) 1011-21  (5553-33)
(C) 1921-31  (5535—93)
(D). 1931-41  (3595-8%)
(e) Which of the folléwing pairs is not ‘twin-
cities’ ?
O (P T4 T TG TR qZH?
(A) Delhi-Ghaziabad | |
| -,
(B) Hyderabad—Secunderabad
SRR (P
(C) Kolkata—Howrah |
Forrel-ged

(D) Bengaluru-—Mangaluru

3 (Sem-4/CBCS) GGY HG 1/2,RC/G - 9 5 _ | Contd.



BIKALI COLLEGE LIBRARY

() Which one of the following patterns of
settlement is developed along either side

of roads, rivers or canals ?

TR (@FRY TSR SR I A, ﬁhﬂ

A9 qCAAICR e T2

(A) Square (35Ff)
(B) Linear  (tiR®)
" (C) Starlike (SRR

(D) Circular (Cﬂﬁl?ﬁ%)

(g0 Which of the 'following' states of India
has the least percentage of urban

‘population ?

—m@mﬂﬂ—tﬁﬂwaﬁmw\w

TS HGIROT T ?

(A) - Sikkim (BR)
(B) Tripura (fa=)
(C) I.-Iimachal Pradesh

(D) Nagaland QIRIGY

3 (Sem-4/CBCS) GGY HG 1/2,RC/G 10

(Zsea 2AT)



BIKALI COLLEGE LIBRARY

2.  Answer the following questlons in very short :
2x4=8

WW@%B{@@?WS

(a) What is ‘population pyramid’?
TR PEife” 6

(b) What i1Is meant by growth rate of
populatlon’ ? |

‘TRl I TR e [ e e

(c) * Mention any two characteristics of rural
settlement

mwﬁfe‘n@mgﬁr taﬁm%wl

(d) What do you mean by ‘den31ty of -
population’? :

W\WW {%ﬁﬁswp

3. Write -short answers of any three of the
following questions : ' ox3=15

©Ed PTRT ﬁmmﬁﬁmww%mo

(a) Define populatlon geography. Discuss’
its 1nter—re1at10nsh1p with demography.
2+3=5
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TRl SUONER AL SISO | SR
SI& I b m:mﬁm s 4 T fa
fE= |

(b) Briefly discuss the basic differences

between rural and urban settlements.

mwaﬁmaﬂﬁwmwm
SCEABA 541 |

(c) Hierarchically arrange the .urban

settlements in terms of their population.

GARYR LTS F9T PASTIZS AV
SR | -

(d) Distinguish between push factors and

pull factors of migration.
TALUIETAS WFES S e SRS M
AILFPIR CrEd [ |

(e) Briefly elaborate the stages as
highlighted in the demographic

transition theory

W\ﬂnﬁwmﬁﬁwmfmml
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4. Answer the following questions : 10x3=30
Ooi SEPTRY TR {8

(a) Discuss the factors influencing the
~ distribution and density of population
with special reference to the population

density zones of India.

| OIROIET SR TG WLTHAYRS [OTFeIa
oo TR TPRYR Ao TIE TgS 7S S|
(TR FIIPIZ, IZ=12. A T | |

Or/ w?/ar

(b) What are the major components of
~‘population change’ and growth in a -

' region?_Discuss in detail the factors
responsible for steep rise in pOpulétion

of India since 1921. . 3+7=10

(AT B TEFR TARYIY ARTE & e
TAMIPTR & 2 553> 5 o[l SIS
AReTFS (2Rl BN TRl IR PRETR
SITAD < | '
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() Elaborate the meaning, scope and

significance of settlement geography.
3+4+3=IO

GS Ui W, 'Pfﬁﬂ?i T @G IBAR
HQICADA] <41 |

Or /| Q4

(d) What do you mean by ‘rural
settlement’ ? Discuss different types of
rural settlement with suitable d1agrams |

2+8=10

oIy i e 5 o2, Risw e amy
FroR ORI SCABA FA|

(e)- Interpret the Malthusian theory of
population growth in .detail and
examine its apﬁlicability in present-day
context. ; - .7+3=10

A TR qf% ©Y JZEE WD
WWWWW@WW

1|
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Or /| 5q!

. () Write a brief note on rural to urban
migration. Discuss different demographic
and socio-economic impacts of migration
in a country. | 3+7=10
AT 21 FZIIBEFACE TN ST
LA IRBR SIS THLIGHT 2SI
RIS S T4 |
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